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x(A\t) = ( Data — Model AC5 ) / o X Corrections
/(409050-5123)=0.916=>1.007

1.3
JW
~

LT LIRS '6' [ T T T T T T T T T T T T T T T T T T T T T I-
o T e e - [ -
Al Tt e R i G o T e R A R ~ r ]
L e st R ! ]
G T e D R BN A Qe 2 1
2 Wil Nt O S e - i ]
Rt R AR A Rt R 3 1
fi ! At A R i L AR A
T R T A e o =L ]
© LA A P o O RS A MM et it J I ]
S s Rt b e Bt et B R O R il i
:\“‘\‘l‘\‘.\“‘\“m\“":.’“\l,‘.‘“\I“‘:;’d‘ ti “\w‘w\.ﬂ‘\‘q\\j‘lw“ ‘\‘l‘g‘l‘!“‘i\“‘}{ﬁl‘,“;‘!\m\"ﬁ“f‘}“,““\‘.‘.;c.‘ ,."w“‘\“;“ﬂ“\“\‘,‘"r;““;lw‘c‘égl iy , Wi
it A | S LA it L T L ]
AR S R e L]
<] LGOS ¢ el A A AR A el L
e i T R e s - -
WA by J e A e R L M ! r ]
ﬁ““““"."“ i e s s A ‘\"“ug\“““““\““”"““J“ F.‘“1‘1“‘1‘\“‘w“.w“,“y‘l“‘\‘,‘” ‘”"'”““"‘““\i“w‘m"““‘\\w\”‘\ww‘u‘w r ]
o e R AN N $ ol . . . . ]
| Rt e b N T T U AR R AT S 2l o Ik WA TR ST n n n n n n n n n n n n n n n n n n n
1000 1500 2000 154600 e 7000 7500 8000 8500 9000

bad:267=0.065% A (B) z = 3.26600 : MJD — 2450000

4 = 0.016(19) x = 0.931(80) => 0.931(80) u = 0.0156(78) x = 0.926(21) => 0.926(21)
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